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4| 21 1| RIRERBEHRE4A S 279,238 80% 223,390
5| 20 20RIRERABARRS5A 414,318 80% 331,454
6| 21 JRIREABAERE6RA N 343,458 80% 274,766
7| 21 5|RIREABERRSTAS 280,708 80% 224,566
7| 25 IRRERBEESEFY 174,541 80% 139,632
8| 19 8|RIREABARS58A N 411,358 80% 329,086
9| 21 IRIREABAERSIASN 353,968 80% 283,174
10| 21 N|EIREABEKRS510A Y 335,558 80% 268,446
1] 21 12|RIREABEKRSNASY 346,988 80% 277,590
12| 21 B|RIREABEKRS512AY 266,548 80% 213,238
12| 22 U RRERABEZXEFY 174,541 80% 139,632
1| 20 16| RIRERABERS1AL 412,868 80% 330,294
2| 21 17| 2RERBERS2AL 255,163 100% 255,163
1 F 4,049,255 3,290,431
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